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80A e |1 2ER 128,890 (212,990) | 121,860 (205,960)|+| 1,170] (2 010)| xmzx | 1,100] (1,940)| x mE=
T lm I3 212, 990 205, 960 +| 2010 X g | 1,940 X g
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| 1004 g |1 28R 118,340| (202, 440)| 112,720| (196,820)[+| 1,060] (1,900)| xmE== [ 1,010 (1,850)| xmEE
T D I3 202, 440 196, 820 +| 1,900 xmEx | 1,850 X g E
101A | o [AESER 40,450] (48 860)| 35 340] (43, 750)| + 380  (460)| x g 330  (410)] xmEE (8 410) (80 x ANEH)
i 3 ® R 48,860| (116,290)| 43 750] (111,180)]+ 460 (1,040)| xmExR 410]  (990)| x mEE 8, 410 80 X MEE
oA ge |12 2BR 116,290| (200,390)| 111,180| (195 280)[+| 1,040 (1,880)| x &= 990| (1,830)| x &=
T D I3 200, 390 195, 280 +| 1,880 xmEx | 1,830 X g
1A | pg [AESER 38,700] (47,110)] 34,010] (42, 420)| + 360  (440)| x g 320]  (400)| x Mg (8 410) (80 x ANEH)
i 3 ® R 47,110] (114,540)| 42,420] (109, 850) | + 440 (1,030)| xmExR 400]  (980)| xmEE 8, 410 80 X MEE
1204 ge |12 2BR 114,540 (198, 640) [ 109,850 (193,950)|+| 1,030 (1,870)| xmE=x 980| (1,820)| x mEx
&T D I3 198, 640 193, 950 +| 1,870 xmEx | 1,820 X g
1A | pg [AESLER 37,220 (45,630)| 32,890] (41,300)|+ 360  (430)] x mnEE 300]  (380)| xmEE (8 410) (80 x ANE )
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131A | o [AESLER 35,980] (44,390)| 31,970] (40, 380)| + 340 (420)] xmgE 300]  (380)| xmEE (8 410) (80 x ANE )
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1A | og [+ BILER 34,890] (43,300) 31, 140] (39, 550)| + 3200 (400)| x mnEE 290  (370)| xmEE (8 410) (80 x ANEHK)
|7l & = 43300] (110,730)| 39,550] (106, 980) |+ 400]  (990)] x =& 370]  (950)| xmEx 8, 410 80X MMEE
1500 e | 2ER 110,730| (194, 830)| 106, 980] (191, 080) | + 990 (1,830)| x gk 950| (1,790)| x mEx
T 7 w| | 194, 830 191, 080 +[ 7830 < NEE | 1,790 X MEE
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Bk g |1 2mE 108,990| (193, 090) | 105, 870] (189, 970) | + 970] (1,810)] xmE=x 940| (1,780)| x mEX
g, I 193, 090 189, 970 +| 1,810 X NEE 1,780 X NEE
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